
𝑓 [−1,2] −4

𝑓 [2,7] 8 𝑓  [−1,7]

𝑓 [−2,3] −6

𝑓 [3,5] 20 𝑓

[−2,5]

𝑓 −4 ≤ 𝑥 ≤ 4 𝑓(𝑥) = √16 − 𝑥2

𝑡 𝑆

𝑆(𝑡) = 0.5𝑡4 − 16𝑡3 + 144𝑡2 0 ≤  t ≤  12 𝑡 = 0

opens  no 
1

3
 ∫ 𝑆′(𝑡)𝑑𝑡

9

6

.  

 explain the meaning
1

3
 ∫ 𝑆′(𝑡)𝑑𝑡

9

6

 in the context of this problem.

𝑓 [−1, 11]

∫
𝑓(𝑥)

6
𝑑𝑥

11

−1
?

𝑓 𝑥

𝑓″(𝑥) = 24𝑥 − 18

𝑓′(1) = −6

𝑓(2) = 0

𝑓 1 ≤ 𝑥 ≤ 3



0 ≤ 𝑡 ≤ 10

𝐴(𝑡) = 7(0.9)𝑡 𝐴(𝑡)

𝑡

𝑡

0 ≤ 𝑡 ≤ 10

𝑦 =
1

𝑥
[1, 3]

𝑦 = 𝑥2√𝑥3 + 1 [0, 2]

𝑦 = √𝑥 0 ≤ 𝑥 ≤ 2

𝑦 = 3𝑡3 − 𝑡2 −1 ≤ 𝑡 ≤ 2

𝑦 =
𝑥

𝑥2+2
0 ≤ 𝑥 ≤ √6

𝑓 𝑓(𝑥) = {√𝑥 + 1 for 0 ≤ 𝑥 ≤ 3
5 − 𝑥    for 3 < 𝑥 ≤ 5

𝑓(𝑥) 0 ≤ 𝑥 ≤ 5

𝑦 = 3𝑥 − 𝑥2



7

2

10

7

𝜋

1

3
 ∫ 𝑆′(𝑡)𝑑𝑡

9

6
= 301.5; 

1

3
 ∫ 𝑆′(𝑡)𝑑𝑡

9

6

 𝑡 = 6 𝑡 = 9

10

5

4.327 𝑡 = 4.565

ln 3

2

26

9

2

3
√2

11

4

1

√6
ln 2

4

3

3

2


